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A) mad Byt dr, Guodsu Memrhib,
(runifl &.Hrﬂ. srisraT  prReRli LM
B) amosu gmbeust, mes Fu 6,
Gunfl &yufl, slmosmfhusr sfGirbeant
C) mes Bup e, Codsy Semmid,
Guorfl &y, elimoswfish sESrGest
D) mes fluliear, smosTas |
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2, yel Pewuhmss Geamirmser
yalifedlmign seuare) o uaHE S
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Al 36,0004.8,

B) 40,0004H .8

C) 80,0004 .48

D) 72,0004

3. Gy smTuETiET  suipaih
A amb B) dmanii
G] T Dj u“nL;ﬁ"ﬂG’Imﬁllﬁi:r

Standard
11,12

I “If | have seen further it is by standing on
the shoulders of giants."

il “Anexperiment is a question which science
poses to Nature, and a measurement Is the
recording of Nature's answer.”

iii. “llove it, but | owe it a grudge.”

iv. “The black holes of nature are the most
perfect macroscopic objects there are in the
universe: the only elements in their
construction are our concepts of space and
time.”

1. The comments from the scientists
featured in the above pictures are given
below. Find the scientist from their comments

Al Issac Newton, Max Planck, Marie
Curie, Emest Rutherford

B) Thomas Thomson, lssac Newton,
Marie Curie, Subrahmanyan Chandrasekhar

C) lszac Mewton, Max Planck, Marie
Curie, Subrahmanyan Chandrasekhar

D) Issac Newton, Carl Sagan, Marle
Curie, Subrahmanyan Chandrasekhar

2, Geo Satellites are installed at a height
v, Kilometers from the earth

A) 36,000 Km

B) 40,000Km

C) 80,000 Km

D) 72,000 Km

3. The Pure form of carbon Is
A) Diamond Bl Graphite
C) Charcoal D) Fullerene
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A) SUBTifbgh [T (Blesir

B} suFT{HLE - BT (HlasrT

c) susii &l (@enmams  Lr{Haen
D) ST LOdheRaT

5. amu urdler PH wdliy 6, 2
yeflEmotumsn Curg s PH wdy:
BéEn (EHmmTELn

2fpGy Glpeen ysrug 6
B mydlmLrsn

BlyElena simiwh  sypragm 7

0.0 8

6. gymm wimin Gusir o mribsd GG
21 sbleD G‘Iug';gw‘rrm Luﬁ]lﬂm’_é}‘&;]ﬁj@ it

D GITETD WLl S@h. Bess @ieeh
Sifisihus GompGpm T

A) G Gamm s

B) [awgon i Eler dsanu

c) gl (B el

0) AL T

7.omgnmemmond  Glummssfiar  Lmabludh
wEmGnGemd XX whmih spersEssE XY
RTEITLIES| mg,anqLu S BLITR Limsnsuss (it &
Gluistor  Lofnin oy sder psnesafien
GEmTGTEembseT AaSY

@S OuddlsmeT ?

A) AA wimin AZ

B) WW s WZ

C) ZW wnpn £Z2

D) MM whme MN

B HNL aGabElibsGe Gurg
@iosh e o miafalmng eraromer  Glusser
@ermEnrGambsEny SEmL AT o o)
@@ Eiambsemn snidgen smEmalhen
BeoLGu ufiorhnd EeGunidng. oiEs
By ..

Al (Glaradl i
B) Ul e LT
C) Ll

D) Sjnflsildame @i

0. giany i Gjbsdn mis
Lmuﬁlsﬁl@;sgi S UATATLD &.rrmn_u_@dﬂmg]‘?
A) ERETHT AT B) (psi

C) (B (plesan )| L FUATHLLILY

4. Who is the most respensible for Global
warming?

Al Developed Mations

B) Daveloping Nations

C) Under developed Nations

D} Poor people

5.The PH value of fresh milk is 6, when il
lurns sour, the PH

A) becomes =6

B) remains the same ie. 6

C) becomes = 6

D) becomes neutral ie 7

6.This term means having both male and
female sex-organs together in a single body.
The humbls ‘earth worm' |s the besl example
for....

A) Monoecious
C) Dioeclous

B) Intrasex
D) Hermaphrodite

7.Momally sex chrosomes are XX for female
while XY for males, bul in
the case of hirds sex chrosomes are

...jor females and ...........for males.

A) AA and AZ
B) WW and WZ
C) ZW and ZZ
D} MM and MN

8.The ........... in human, through which all
exchange between the developing

feteus and the mather, lakes place, produces
tremendous amounts of female sex hormons,
together with some male hormones too, which
are excreted by the mother during pregnency,
Al Cervix

B) Placerta

C) Uterus

B} Umbilical cord

9.The tigers are identified individually with

A) Eyes
C) Stripes

B) Face
D) Body shape
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10.  purdlar @mpun® SQSsas ARG
(Epmishis Rl ?

A) GofiEef B) (TR )

C) ami siides D) Ergs Gt

1. aysmaer wppen Gusraafist @1 sl
o_airem o GlomEGarmilar  sram LEhn
bl iseasafle  sravoramf|dem s
(pemmbu ..

A) 13-18 g/dl and 12-16 g/dl

B) 10-12 gfdl and 8-10 g/dl

C) 15-10 g/d| and 14-16 g/d|

D) 8-12 g/dl and 6-8 g/dl

12. ureollauafl oL anorargl &6
wnpin Gemamd s @i aagikiser  GEThs
SiEnTe: eteng sTen  milahasralsan
st (W ismaraont. Siser  sniowiliiE STl
ayemof g Clummmer srgy?

A) smmgenem B} Eurlomer  alflemisr

C) Gaypfhib D) GElewsu stgiapbsbsne

13. so alemisr wyibos wog
irainuatiiler e dmEs s
allgpermmtiaar LwaTUEdgn sl s ?

A GumlGr Mo B) umGpr B

C) aflsuGar Ber D) Em@ubrm B

14, @GS EhSE  LusTUED Lwm
steimm  giewfl weimenflsy wSEasnE s
ShITGULE (D7

A 250-500 sumLib

B 750-1000 aum b

C} 100-150 aumsLii

D) &SI

15. s eyt -2 muSE)
Gl e Limmed sTaTUUGD ol
o Wbl vstany ...

A) g difleon  ofs smafilh
2efleding

B)  mewemuiifeafier asniEdlamiud
SESHmg)

C) e aEmudlfsaflEr  aendsdlmus
SHHmA g whn Hierauitieamar
Sl

D) [Elema g i

16. Endumaiastsr s
i@ hmre agiiay fleom ag?
A)  migdueT B  Uiggmierefan
C) agsorar Blsmmt  Saimer
D) (Elmay  sTamifsosme

10.

A)
C)

1.

A)
B)
C)
D)

12.

A)
c)

13,

A)
c)

14.

A)
B)
C}
D)

15.

A)
B)
C)

D)

16.

A)
B)
C)
D)

Miacin deficiency leads to ..........
Beri-beri B) Pellagra
Foot irritation D) Anaemla

The reference range of hemoglobin
for adult healthy male and female
human being respactively is,.......
13-18 g/dl and 12-16 g/dI

10-12 g/dl and 8-10 g/dl

15-10 g/dl and 14-16 g/dl

8-12 g/dl and 6-8 g/d

Scientisis have dizcovered thal the
Milky Way has two components,
the disc and spherical. What may be
the cenlral object of the Milky

way?

Black Hole B)
Vacuum D}

A Meutron star
MNone

The device employed to measure the
diameters of stars and our galaxy

{ Milky Way) is called:

Photometler B) Barometer
Viscometer D) Interferometer

How long does it take for a disposable
diaper to degrade in soil?

250-500 yrs

750-1000 yrs

100-150 yrs

Does not decompose

Antibiotic is a chemical substance
produced by microorganisms having
the property

Destroying the microorganism
excessively

Prevents the growth of the
microorganism

Inhibiting the growth or destraying
ather micro organism in high dilution
None of the Above

The largest mangrove in India is.......,
Sundarban

Bhitarkanika

Andaman & Nicobar islands

MNone of the above
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17. &rr;ng'jiﬁr sTa@idE” e

FIEITﬂI'

Al sasll Lnemersd  @lsdime

B)  smfasrer sdufdr sprmm
@ildsine)

C) amidlagarar eGaraflsn  geramak
G DIGEME

D)  smyfidr By wipnsms sEESNE)

18. ailgniesmaatl oL aorddin spdu
Guysiman @ids ubssn 10 (ssfhus
Uirdlsen aflbm sTasnar LsniSms). 25
Bbg Li5HE0?

A) The Universe in a Nut Shell

E) A Brief Histroy of Time

c) God created the Integers

D) The Theory of Everything

19 o mGHSUILLL. STULGEE LDhHES!
Gemgnn uTmGsilaT  alpaLD.

Ly LEJEUEMETTEY|  LITmes;

B}  &f Lmausnera| Lnsmg

C) #lGumip Lmsng

D) [Elemey  ysmerd|h

20. armilee  smuwilET S ailmewn,
Glssitsiv #&s sl @il muwwd whm
Byl ewpsimng o0 o Susbenn
LeuATLGIESD  aflamsmum’ (5 a7

A) srsukg) B) ammadl

G} &fistlal D) ghibermsiigd

21. e piemmmiag s
RTGITEm 7

A} meifinr esaveflasf]

B) wafls usmysmer Gasfiiu@aann smail
C) Gus memfefl

D) ugbw syfiafus semn

22, surQemmsdl spell Lgtufles FM  erstrug
sradren 7 '

Al oy Glausgr  UsterGLHmLG

B) i Glausam Gl Sl

C)  ayfi@aumr Br

o) [memey  aragisuflsiemen

23, [@a osonuls) STSSSNET  auamEILITT
sl moufiflemen  ssoar i G 7

Al 5 B)4 C)6 D) memmmpmema

17.
A)
B)

C)

D)

18.

Al
B)
C)
D)

19,
A)
B)
C)
D)

20.

What is "Air Quality Index'?

It refers the sound pollution
Indicates the sulphur content in

the air

It Indicates the ozone levels in

air

Prevents the change of colour of the
air

Stephen Hawking wrote a book on
cosmolegy which had sold more than
10 Million copies. What is that book?
The Universe in a Nut Shell

A Brief Histroy of Time

God created the Integers

The Theory of Everything

When foot ball passes through the air,
it always follow a curved

path. What is that?

Parabolic path

Hyperbolic path

Sigmeid path

All of these

The game that involves centrifugal

force for midair spin, centre of gravity for
balance beam routines and Newton's third
law of motion is.

A)
C)

21.
A)
B)

C)
D)

22
A)
B)
C)
D)

23

A) 5

Football B)
Cricket D)

Hockey
Gymnaslics

What is ‘Artificial Intelligence'?

It is a modermn computer

Machines exhibiting traits of human
intelligence

Itis a Cloud Computer

Itis a new branch of sclence

In radio transmission, whal is FM?
Frequency Modulation

Frequency Multiplication
Fraquency Matar

None of the three

How many types of antibodies are
discover?

By4 €)6 D)Infinite
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24.

A)
C)

25.

A)
C)

26,

A)
C)

27.

A)
C)

28.

A)

29.

A)

30.

31.

A)
C)

Ehdumnilgyerar  menanilamrmatis
FTGI0T GO Iehsm e 7

1263 B) 263

2263 D) @ sgnufldams

Limehtgriumenand  Gamamd sm
srdlr suflfullsr  @epksu s
LT kel FHLIED S| ITEh! T
100% B) 99.9%

90% D) @ saepfaems

¥=2005, y= 2008, z= -4011,
gredfia; %7 + P 42 -3xyz e wdhy
sreisr 7

0 B) (2006)2
(2005){2006) D)1

erflimeas 2.1 Swenflées s
gigmnyddlen Gt gpsmaflien Sl
paefifn @la o't Gemmammn
GFGITER 7

30° B) 5

22 % D) 7

200680 Hemmeurar assmar s
ereforasr 2,3,4,5 wigb 76
AL ?
1 B)Z2 C)3 0) 4

B CubhEd pem B
spidlsment. syt Srelurs s srar
TE\mESmamntl Smnifsm mSSamear
FIRNGEATE)  TYOT  (LPigliD?

30 B)60 C)120 D)210

e suEieied 12 womsmerautesafidr
ommant o wmnt52  Geadsrer
ememrsdl V') g ST el
LeTTaenmila) sug  unmsve Rt
smarrsGlafiiyg 1728 udwra 148
sranr sewrSdl L g el akss.
EQLme syreafl s wmb e ?
150 cm B.156 cm
158 cm D.154 cm

Bl (Bems sremaaflon  suiSaskissdlonr
g (pimes 45, Ghuflw  erstorssafls
Uil Ffh esmremnflen s sms
LT (VI O O L R 17
ETEIITREMET SR  EHTEENTES T

3 whg15  B) 6 whpm3
3 uigra16 D) 9 wiprbé

24, The Number of Bird Species in India
is,

A) 1263 B) 263

C) 2263 D} None of these

28, Minimum Bacteral Concentration
{(MBC ) of the antibictic is the
concenlration which can kill bacteria,

A} 100% B) 99.9%

C) 90% D)  MNoneof the above

26. If x=2005, y= 2006, z=-4011, then
find the value of ¥* + y* +2 -3xyz.

A) 0 B) {2008)2

C) (2005)(2006) D) 1

27. Al 2.15 O'clock the hour and minute
hands of a clock form an angle of.....

A) 3 B) 5

C) 22 Y D)y 7 %

28, How many of the first 2006 positive
integers are divisible by
all of the numbers 2,3,4,5,77

A 1 B) 2 C)3 D)4

29, Three parsons enter into a bus, IF7
seats are vacant, then the
number of ways they can occupy the
seatsls.........

Ay30 B)&0 C)120 Dy210

30. The average height of 12 students in
a class was calouated as 152 cm. On
verification it was found that one
reading was wrongly recorded as 172
cm instead of 148 cm. Find the mean
height?

A 150 cm B.156 cm

C.155 om D.154 em

3. The addition of the squares of two
positive numbers is 45. The square of
the larger number s smaller four
limes the square larger number, Find
the Numbers?

A)3and 15 B)Gand 3

C}3and 16 D)9and 6
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32,

33,

34

35.

36.

37.

38.

A
C)

ATRATIGT S ST G  FTRiET T
suems mil  Bun i oydEein.

daum BEne Hpe eraflar aiug
et woememenr el Aol mig @S,
erefley  mpsursaflsr sHlumamsn s
sFEETE 7
A)30.5
C)48.8

200&mn 300&m0 Gl ol
= VR P e T g
6, 8,umprs 9y ansLEE?
Al B)2z €3 D)4

B) 36,6
D) 24.4

. Asm Coumevsin 20mmsafish g lumt.

Bals CGammmmu 3I0mm st
(i, @lneumn GeThal Sihs
ol st SHemem [HM-Sefle
(g LT 41T 7

A) 10 pmisst B)12 mmiser
C) 11 pmimar D)20 mrl&sm

90 UBSEEMS 14 y56s
Gamlusuisar  TOuGsmmamer Dot
Crrddln eiumisar, 100usaipsrar
B0 Uppadms 10wmfl Guysgh
lemip $pss srssmer G
(Seuesinr (Rl ?

A2 B0 C)8 D)7

dliflEtm.  aipi aflpm. Gsmesll

30Gum tpsaflsy anrafhurs
T2ysivmemen  eT(DWbElmEammt. 3100
Gumllgdelt g s iu sy
73 yswmama o WikSGs stk 310
Gumlipuilss gyeut sEBE TR
FTRLIFLIGT gL 7

A)100 B)103 C)74 D)108

G0 Sl sgnGha tonds uiy
384m°. @ LSEEMSGE ST

Adm BBm Cdm DEm

A sraruant B&w Glame LaesSgln
Corsruaut B dlpdmd udaddlann
Easfiom safis Amduar Cal
Cummedes ag Sl @) madimm?
oL Sk B) ful. G
Gpeor Apde D) Glser Gube

33,

35,

ag.

ar7.

38,

Saran is 6 times as old as his son
Shankar. After 4 years, he will be 4
times as ofd as his son.\What are their
present age?

A)30,5
C)48.8

B) 36,6
D) 24,4

How many numbers are there
hetween 200 and 300 which are
exactly divisible by 6,8 and 97
A1 B)Z C)3 D)4

A can do a work in 20 days and B can
do it in 30 days. How long will they
take to do the work together?

A) 10 days
C) 11 days

B)12 days
D) 20 days

If 14 compositors can compose 70
pages of a book in 5 Hours, How
many compositors will compose 100
pages of this book in 10 hours?
A)12 B0 C)B D)7

Cricket player Koli's average in first
30 maltches was 72 runs. After 31st
match, his average raised as 73
runs.How many runs did he makes in
31st Match?

A)100 B)103 C)74 D)108

The Total surface area of cube is
384 m™ Find the side of the
cube?

Adm BEm C4m DEm

If A is to the south of B and C is to the
aast of B in what diraction is A with
respect o C 7

A) North East
C) South East

B) North West
D) South West
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39.

40,

41,

42.

43.

44,

yar X% 100 wpmbd z &y %
200 mafi'x SEn 2 S
A) z = 4x B) z=x/2

Cyz=2x D) z=x/4

By eredmeafli s Bed 12,
aysumiilein Gumses Wemms 36
SyhG s e geamsdLflmafism
o (BlE60  GTamTeN 7

A} 12/35 B) 1/35

C) 35/3 D) 7/32

Meluriulls g Blaosma
siehimHaum b, ailomaddhlsil
@mor (B wrigarart el e
erfliy L Gauetar (B ?

A) Eeosans s ks Gng
B) Emis@ae pemmmma)
C) BlwaEmse G

D) Budme she 100 F &S o

(15 b

Ly gheralian  oydlaml Limions
ok T amen |

A) 42195 SAlBsmbi L

B} 26 smws 385 wmi

C} 42195 i

D) Gupepiu e Hgia

B0 BT Qs Grafs Gomssir
sURTLIL SEM6ETUL Tdmemen wenfl EEmb
Lty imrmi 7

A)g B)4 Cy13 D)15

" gp&awn 120
*QunpsHICuna® 30°
"2 LppuulimA 18
gl 120°

" el Gluesm 75’

24 uwrsmersuieeat LMIID B(
Lpdfifhuflsr aqrefl ews 15,

L difwflsr aweme sallissms
amrat] Igmoupn sefld g fifhofisr
AL ATRTTE E

Aj32 B)35 C)37 D)39

39.

41.

42,

43.

If x% of v Is 100 and y% of z is 200,
then the relation between x and z Is
A)z=4x B) z=x/2
C) z=2x D) z=x/4

The sum of the two number is 12 and
their product is 35. whal is the sum of
the reciprocals of these numbers?

A) 12/35 B) 1/35

C) 35/8 D) 7/32

To hit & target on land, at what point
would you drop a bomb from an
airplane?

A) After passing the target

B) Before the target

C) Directly over the target

D)After passing 100 m from the target

The official distance of a marathon is
A 42.195 kilometre

B} 26 mile 385 yards

C) 42185 metre

D) All the above

How much lime waorking a person in a
day according to the pie chart?
A)8 B)4 Cp3 D)15

" gnssD 120"
QumpaGuras o'
"o Lmuims 15

® Ll 120"

"ol Bl 7s'

Average age of 24 students and a
teacher is 15. What Is the age of
teacher, When avoid the teacher age
the average age less than previous
averge.

A)32 B)35 C)37 D)39
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Siphangmh Grmos mpSsSsatlar
memlE wdhin) ...

A) 620 B) 1120

C) 170 D) None of the Above

s weflgsr 2 SCumil § Hnrddiin
giublasiuEn  aildla el
Gunmamar(nl @sim  Gpanmadin  CRISmE
syt areeflsy suBD  Slemg
(smminfay el Gaesth 330 misec)
A) 3 allmrmg Gawsoms

B) 3 ailsrmy mmosors

C) 6 ailarme Geumioms

D} & allmrmg. @mosioms

g BeymD Gummeflsr -Gy

FURIMLIL LD &ML Vi (Bisamgs),  adr

amin sappfle gy Hmlurs D

wimln E ysialisgnddan G msr
ummeflsm Hlamstansma aturs
sl bl ?

A) Gummaflen demebasin o Sefléadng
B) Gummaflsn dlmebasn @mpding
C) Gummafldar HemeGamin sl

D) Glumymer Sebrmsaf’ s g

47.

A)
E)
C)
D)

What is the value of the Roinan Integer
MCXX ?
A) 620
C) 170

B) 1120
D) Wone of the Above

A man sets his watch by a whistle that
is 2 km away. How much will his
watch be in ermor. (speed of sound in
air 330 m/sec)

A) 3 seconds fast

B) 3 seconds slow

C) 6 seconds fast

D) & seconds slow

A velocity-time graph of a moving
object is shown. Which statement
best describes the object's velocity
between points D and E7

The object's velocity Is increasing
The object's velocity is decreasing
The objett's velocity Is constant
The object is stopped

50.0

450
40.0

350

=
=

250

Velocity (m/s)
8

150
10.0

50
0

A

10 20 30 40 50 6.0 7.0 80 9010011.0120
Time (s)
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48, sfurer  GurmSsin

1 | TNT A | Acid rain
King of
2 | H2S04 B
Chemicals
3 | HNO3 C | Bakingsoda
4 | NaHCO: D | Explosive

A) A-1,B-2, C-3, D4
B) A-4,B-3, C-2, D-1
C) A-3, B-2, C-4, D-1
D) A-2 B-3,C-1,D4

49.  Sar sugeuemauiiih "Bl sdis
o sty @umgmeleruday Qe
sUailne" Qurbssimarg)

A) Clummst peTallamen

B) s Heomwner  SameGasams
s [BiniSgieng:

) Griaume  (wibdEasbine

@ aTanTl s
D)  sflinmes pEHEs550HE
a_airenirehime)
Time Position
(s) (m)
0 0
1 6
2 12
3 18
4 24

50. @lrmomuseoTid, eiidlsnmb, Ligrisrs
Eirb mpeomy), 2 wiiflarmseatlsr
Gepmmmin  suflsmer L S

A) = mmemn, Sousnear, Holdms, FhGss0n

B) moldme, onpkasn, o smormn, snusmmr

C) smumer, sHGssb, mpnlsms,

2 gmTEmin

D) sEGamean, mbllssmes, 2 smsmo,

() LIEW5aT

48. Correct matching

1 | TNT A | Acid rain
King of
2 | H2S04 B
Chemicals
3 | HNO3 C | Bakingsoda
4 | NaHCO3 D | Explosive

Ay A1 B2, C3, D4
B) A4, B3, C-2 D-1
C) A-3 B-Z C-4 D1
P A2, B-3, C-1, D4

48, Which best describes the motion of
the objecl recorded in data table?

A) It does not move

B) It maintains a constant velocity

C) It undergoes positive acceleration
D} It undergoes negative acceleration

Time Position
(s) (m)
0 0
1 6
2 12
3 18
4 24

50 Famayanam, Silappathikaram,
Ancient Indian History, Origin of Life-
Wrile in order.

A) Truie, Imagination, Belief, Suspecious
B) Belief , Suspecious, Truth, Imagination,
C) Imagination, Suspacious, Belief, Truth
0) Suspecious, Belief Truth, Imagination
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51. Q@rduraid yslss orssmiyg
S i Glansin( suhsant
A) LET G Esi ik

B) ELTEDLITIL)
C) @)k ik
D) el

52. mib o dlsw s @mel wgdibisn
smymisosor  sursd Eene Gupding ?

A suwdg  B) wmiy
C) ETERADL D) seme Gl S
53. g s WarGam L gdlsi

ms iy ?

A) 0.707 lo B) 70.7 la

C) 0.636 lo D) 63.6 lo

54.  Uemaumih giesrmmmer  simimlsi
gl Hammallar  spalusmufls s
anflemaulilsh auflmaLfiEas?

1) ylrm_e medr 2) aandsLTrET
3) Blprsar 4) SGum meh
A) 2-4-3-1 B)4-2-1-3

C) 4-2-31 D) 2-4-1-3

655,  adlidsh gniest afimara)
om_w o Ssomsin?

B) Hg

D) sb

A) Ag
C)Sn

56.  @lamsui Glenn  aupsdmad
GlersmrBarsn RNA?

A)  iRNA B) SRNA

C)  mRNA D) rRNA

57. samrem surddugms Goim@sE?

(1) gbomar G@pafamd slmmied undl&s

(2) @?&rrﬁr @piny feimsemsE ThE urdii
LTS

(3) gpboredr @i wellsmee Cord L
Gpris oG

A) 2 (i B) 1 wi(id
C) 3 wi(i D) g
BB AL ETER A

5B. LG CLOENET SHBaEn fhE  Gas
adldlmgmeiin sy jdimg?

A) 250 kmph B) 275 kmph

C} 350 kmph D} 375 kmph

1. Who brought the ‘Tiger Project’ o

India?
Al Manmeohan Singh
B) Vajbai
C) Indra Gandhi
D) V.P.Singh

52. In which parl of our body muscles
lakes Anaerobic respiration
A) Meck B) Chest

) Bone D) tissue joining the muscles,
53: What is the ‘rms’ value of AC current?
A) 0.707 lo B)70.7 lo
C) 0.636 o D) E3.610

54, Arrange the following particles in
ascending order according to their
resting mass'-

1) Proton 2) Electron
3) Neutron 4y Photon

A) 2-4 31 B) 4-2-1-3
C) 42-311 D) 2413

55, Which of the following elemenls has
the ‘Negtive Thomson Effect’?

B) Hg

D) Sb

A) Ag
C) Sn

56. Which RNA has the shape of ‘Clover

Leaf?
Al tRNA B) SRNA
C)  mRNA D) rRNA

5T. Which is wrong in the following
pharases?

1) Czone loss will lead to change in harvest.

2) Ozone loss will not affect the fish

3) Ozone loss causes the cancer in human

beings.

A) Only 2
C) Only 3

B} Only 1
D) All three are wrong

58. Our brains communicates the signals
In which speed?

A) 250 kmph B) 275 kmph

C) 350 kmph D} 375 kmph
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59, Gdeonser sramugmenr Gaudh Gour?
A) el yGminfstiser
B) umrabl  zyeflllgallenr
C) unsdl Qo gmyewGrr  srgeleblaor
D) unrsllaflemanrsl ) fesamims

60. puosmsds s@smar Ui
o (HASGS ST 7

A) CFC - myseiima s @ ui{
LGS T

B) UV sgiliesr g Snllioo s
[mlea_ 105l sienl migme

C) IR agiesr o bnailasm s
EhnlufE guEnL s

D) sysedlmer Srraism Gl

SIFTL_suETE

B1. ifsrard) s gdlaofld Lwdn Gl sSemin
a1l 7
A) gaflan’s  (fsrasfimssn
B} semflar girador s
C) uifiomim (fleér  gmesm s
D) e &mEs  grsvor s

62. Gumrmdsim
(1) & inEammeTs - tfipmamo
(2) FogDLAUTTE efiseT - Fam
(@) Gm weflgi - OybE syfdsr
(4) gyenul rhamilSise - GUHML_§iT
A} 14-2-3 B) 1-2-4-3
C) 4-2-1-3 D) 1-2-34
63. adi a6 urs (RO)  aeimm
(Lpsmmiilsh @b
I T 0y o T Y
sflsiflasiubAin g
A)  Snmo) B) di
C) g smuid D) A} wmmn C)

64, mafl Eempdoams Glgmmsm
Sl
A) srdlGlrafhin
B) GmgGuwer  srlGhymsfiy
Clpw sje sglEmmatiiy
D) Glomesstn srglagn [glaema

65. Ay opgih 4 Amd  Deomsamoa

s @huds  aphmedls)
Glesidimgl msflss  oySar o Gsmissilsm
el

A) 1: 4 B) 4:1

c) 1:2 o) 2:1

59.

G,

61.

62,

G3.

65.

What is the chemical name of Deflon?
A) poly prophelin

B) poly acetelin

C) poly lerafluro ethylene

D) palyvinyl alcohol

What is the reason for the formation
of Ozone layer in nature?

A) As CFC interacl with Oxygen,

B) UV rays interact with Cxygen,

C) IK rays interact with Oxygen,

D) Oxygen interact with steam

What s the theory behind the
lightening arresters?

A) Action at Points

B) Self induction

C) Mutual induction

D) Electromagnetic induction

Match the following

1) Cro'Magnons- France

2) Hydelberk man - China

3) Peking man - East Africa

4) Australophithecus - London

A)1-42-3 B)1-2-4-3
Cy4-2-1-3 Dy1-2-3-4

The impurities in the — is removed
by reverse osmosis' method.

A) Alr B) Water

C) Sky D} both A) and C)

What is the principle behind the 'Optic
fiber cable communication'?

A) Reflectian

B) Radio reflection

C) Total internal reflection

D) None of the Above

If1 gramme and 4 gramme masses
moving In equal kinetlc enargy, the
ratio of momentum is..

A)i:4 B) 4:1

G) 1:2 D) 2:1
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66.

68.

69.

A)
B)
C)
D)

70.

A)
B)
C)
D)

71.

72.

SLpSEmaiTL o UHIIST 615

uLESHAN gumss  GlawauEbing ?
A) L - sy momr

B) eoL - s&d i

C) . - emarsd msiT

D) myeflGems

fihen @emon GamrGsr  LmiD
aflsnende o luLng?

A) sl oL ssamma

B) Glogee oy sbaamis

C)aGar Lnismus sy sesamirs
D) ol GLmsir

Gamur (psmmullsy 2 (memmsT
SaGurefumenn fés Hrmai
SyEnuEgeT Crrasn 7
Aloiusssms HameliGss
B)Gsuiu [Renmemy ElsmsuliLifids
Cauflemsuanis Famsuliiids
D)gyflesu_s gnCursfumsms
D (LRSS

a aurafiud gl mdhiy ..
149.6 flsosilwstr  Gsur BT
14B.6 dilmsthussr HGsur B
147.8 (fsveblwesr HGeur G 7
146.9 dilasdlusir &liGar Bl m

wirsodatiur  Spraflan  serus i
amail L ifilsir @ ammum(E Gmmi
Gemmm Grmil

Himifiresd  @mmiun

GEml so&ril) e @epa)
Grmi

Sipdmannammar SGrmemL
grambms GaitEsE 7

A) wm B) mehsil

C) &lunsdlsessrafl D) amableudfhum

enstoTeving. eNhe  [Elemsvsmioublen
@ GeTg?

A) sy Elemsusmin

B) afilifiusiu [Bemsusnio

C) & Flsmeunin

D) i Hemeamia

67.

Ga.

69.

70.

T

T2,

Among the following which acts as
an anesthetic agent?

A) Dimethyl ether

B) Di - ethyl ether

C) Di- phenyl ether

D} Anisole

Which of the following compound

does not invalve in "Haleform reaction'?
A) Ethyl alcohol

B) Methyl alcohol

C) 1sopraphy! alcohol

D) Acetone

What is the aim of sending steam to

remove ammania produced in Haber

Method?

A)To slandardize the pressure

B)To standardize the temperature

C)Te standardize the equilibrium

D)To produce maximum level of
ammonia

An "Astronamical Unit' ( AU)?
A) 1496 milllon km.
B) 148.6 milllon km
C) 147.8 million km
0) 146.9 million km

Myasthenia Gravis' is......

A) Vitamin deficiency disease

B) Infectious diseasae

C) Defect in the Kidney

D) Auto immune system deficlency
disease

Among the following which are '

xerophytes'?
A) Mango B) Lilly
C) Cactus D) Vallisneria

Glass is in which state?
A) Gaseous siate

B) Vitreous state

C) Liquid state

D) Solid state
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3.

74.

75.

76.

A)
B)
C)
D)

A)
c)

78.

9.

80.

A)
)

81.

A)
B)
C)
D)

A)
C)

A)
C)

erapnoLimafls) Uil eTspnoy Lmml
GETEmiL D T TEEHIG] 7
SGimger - 131
sl remreh - 90
smiuar - 11
Gesmumal - 60

westld @0 6bled womsor Gl
stanr  susmipaein(lag ?

(@@ B} esmer
[m)FmiTLsmL D)  dlpiEresis

Geuehl aflsmamuilsh  srausymans
Ehpha @mT sueflamu

@ (IhET g e
Liggriflar B}
digHun D)

(& orrmifish
Bioeyarpis
BTaELTTanf IS )60, 5 60T FHLO ML

2 DELGEIESID Gamsmar

GLallersir Glapriiod Gerrgsmanr

e/m afldls Corsemer

Wlsebldmar sremrblmmbgaief] ayia)
gaafl st aflemeray

auranflemm  alie|  emLohis sl
LisTuEy Glaiius erpm) Lspmsi

Qeusiuin  aildl
B) e dr aid

Quaflsirsn ol D) OCyarsirsy afid)

A)
)

o Gams Gempwid abls Gebfids
smaud s LG dlm s ?

i B) ayseants

vy g D) s Glswr s Glammils

mréGEEr. o furs GausiuEh
Gamoln?
A) H202
C) Hz

i pgdler 2wy 2puET s

B) CO2
D} CaHz

12.3 Eifi st B) 12.5 wenfl

12 Qmmgaer

D) 12.3 sysmGesr

unempuiistr euemg Siomsfise
LisETUBG SO sGemGming?
A)  Na® B) G4
C) Co® D) s

73.

74,

T5.

A)
C)

76.

77.

A) Charle’s Law
C) Kelvin's Law

78,

73,

aa.

B1.

Which of the following deposits on the
bone and causes bone cancer?

A) lodine - 131

B) Strancium - 90

C) Carbon - 11

D} Cobalt - 60

Which parl of the body is known as
‘Masler Chemists'?
A) Heart

C) Stomach

B} Brain
D) Kidneys

It looses an electron and produce a
positive ion in a chemical reaction is
Flurin B) Chlorine
Lithium 0) All three

Which one of the following experiment
proved the wave nature of electron ...

Al Davisson- Germer experimeant
B) a/m experiment

C) Millikan Qil drop

D) Photo electric effect

Use of hol air balloons in
melerological observation is an
application of

B) Newton's Law
D} Brown's Law

Metallic Sodium is stored in
A) Water B) Alcohal
C) Paraffin D) Kerosene

Compound that is used as Rocket
Propellants ?
A) Hz0:

C) Hz2

B) COz
D) CaHa

Haif Life Period of Tritium is 7
Al 12.3 minutes B) 12.5 Hrs
C) 12 Seconds D} 12.3 Years

Which |sotope is used to determine
the age of rocks s?

A) Na® B) C“

C) Co®™ D)} S
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82.

A)
B)
C)
D)

83.

84.

85.

A)
B)
C)

D)

86.

A)
B)

C)
D)

a7.

A)
B)
C)
D)

8a.

Searaugpih  GmmissEmem s
vERaTmmesd  GlamamaTTaamneaT
s GEmi?

Clevsiramen mienmuirss  Gmmi
aupiL gl Grmi
epememuilis &lip
(LpL_&HighanrLn

PAN is

A) Peroxy acetic Acid

B) Peroxyaceyl Nitrates

C) Peroxy Sulpheric Acid
D) Per di Sulpheric Acid

EGpu e nhE  Gurmeafin
LEisLree  Blehgpi.

A) (i B) gGLmeflé
C) i &maniy D} oemran

grfladt Caraniugl saam ?
Gaugmisafla & miu firers
Lnepgmnn i sroniile g ema e
urbisnrd Gamflsh gordanig
GanmpieSissg)

LTl enaT  SIMImAT  LITEIEN LSS
Nl SpSEHTE  SUTLHES ST
SyeniGay Slemrsoni soradhumrs i)

Gerdiib gar  mynfleflus  mjsa?
SymaalESE WU GEginbma
Gamerama (KD SITLDEME

il swruilnelsamen

CluymibLmarar ST e dlamea
Guew i epeapid

Comdh_remar @ifiu

eremm &dlamGurg) sheubhn st e

apsddlany sEMdlghg silumbn
Gumsl]  suflaihs

(iphens aemamrpmines  ndse

g ilsoameo

EESunaia sb&s susmamy
TS AU T

A) 22 panbut, 2019 B} 31,getir 2019
C) 26peuf,2015 D) 2 smermsfl 2020

82.

83,

85.

A)
B)
C)

D)

86.

A)

c)
D)

a7.

A)
B)
C)
D)

8a.

Which one of the disease easily
attack the Textile Workers

A) White lung disease
B) Black lung Disease
C} Brain tumor

D) Paralysis

PAN is

A) Perogy acetic Acid

B} Peroxyaceyl Nitrates
C) Peroxy Sulpheric Acid
D) Per di Sulpheric Acid

Which of the following substances will
undergo sublimation 7
A) Common salt

C) Sugar

B) Odonil
D) Sand

How castes are formed?

A) As stated In the Vedas

Manu Dharmam defined caste system
Ancestral profession formed the
castes

In olden days pecple lived as a small
groups for their safety, That became
tha caste later.

Why Astrology Is not a science?

Itis not applicable to all.

Planets do not determine our life.
Most of the people believe astrology
Most of the people do nol believe
astrology

Astrologers told that pregnant ladies
should not come out during solar
aclipse.. This is .......

To prevent from infrared radiation
Pseudoscience

For the sale delivery ol physically fit baby
Mone of the above

The next annular solar eclipse in
India

A) 22nd Nov 2019 B) 31st Dec 2018
C) 26th Dec 2019 D) 2nd Jan 2020
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89,

90.

A)
B)
C)

D)

91.

92.

95.

@it Srmemmnd smar s bl
mempiiipln) B Emyewm.
B pHEa............

A) spfuoc L

B) exBévsin  Gemsmranogeir.

C) mpsoLn’  smaTauamL&iT

D) madlellGuwir

gl emeoigsn Gams @miimet
GrmasD

Uldramrsams GmndEe
TGS £ WSS

s CErsding Udrarysssms
(DT

s GHTSSNG Herarsssme
Lyflsféss

GeaurGam emusl eramUmaT  GummaT
Allsmor  sustomguilss G (GimT
B)@amnlarsalie s gl EET
Clafwrsm gL GsT

DCLmES 9L O

wrriflsogdler srifumm [Fllami
M ELLITAT 6L

AlnmBeSElen o EhbT
BjumBlsud&lsir  (pasvamiode
ClomBeugdlsim  Eldlsmiodra
DjunBlegiiar (poermins

(GleriigmT

e augth oThs T G
LOnTHlEORIG EhEE HMas HEHTTHALD,
whseflusr ClyGeawmrsatd o sramgy?
A} Gresmen B) Gsvell

G) ppbemu D) smmpast

"efgi Tl lgI” sTeMTSY sToiTER 7
AJnmUgmsemar oMol s 00
Bluorusmssafliy o dran

umbtieny  GEmiEE oSryHmTLTsT
sigirenemen (ol lp Lisoor(Bin eplL

B RLIE AL

Cuwrussmbaigmi s Glsuaf]

LOTL i EasemeT  Garmdma
D)wrusmsaaflsr ussmeanar
SiemLngdhe

398 o Sy mgEs

STRITHOT 2
A) O B) 1

c)2z D)4

89.

91.

az.

93.

85.

Solar eclipse is responsible for the
discovery of helium,

A) Aryabhatta

B) Jules Janssen

C) Albert Eisenslein

D} Galileo

The purpese of choke in lube lighl is 7

A) To decrease the current
B) To increase the current
C) To decrease the voltage
momentarily

D} Te increase the voltage
momentarily

Loco PILOT means ....
A) Train Driver

B) Helicopter Driver

C) Aero plan Driver

0) Bus Drver

Contingency fund for the state s
operated by

A) Governor of Stale

B} Chief Minister of Stata

C) Finance Minister of State

D} Chief Secrelary of State

Which one of the following city is the
Capital of Twa States and Union
Territory
A) Chennal
C} Mumbai

B) Delhi
D} Chandigarh

What is "Gene Editing" ?

A) Inter changing Genes

E) Removing the Diseased part and
pasiing

C) Adding outer Gene

D} Changing the properties of the
Genes

When 388 is divided by b the
reminder is .
A)D B)i C2 D4
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Linsssiedieg e Guwfl
ubifipsi?

| indaanend seurisshe

UNO@sr el &kt fusmmar
A I TR

iil. aumsfiens oy iommTHEED, S0

wrgillesgmn,  CumginssEr
mursfiomen  srdefidensamu sfhurs Lk

Glsimareismis.

iv. sy sLpusfuis, o6r Gnrsdo

QUL CIRE TRy L 00
o e mUUg e i T
SIFMLIITETD  SHT6mT.

Ay iT&ii B) i & v

C) |w' @GuiD) Gomswpfiu g

. spferaaflar Qandlflmn aflos wrg?

Ay flmemmu gpfsr > giflamemm
afismr = ppallamamny syl

B) ruflavemmin eglier > spiflemesmmiu
apfisrr < ppafismevony e

C) mflmamy sisr < gflaamm
Spbsr = epalisnaonu g

D) gflstsoer opfssr  >maflensmri
aylisir > epsllensmmy  yber

. Lyhddniiaar f EESmamaT 2 Geey
o | QEmam. Gsreigrar o1 Eamear
Geuemer(Bhd TalE)  Fa (UGl 6TET Y

A) iy s eiflugms Elyks aE0
B) Glaumid auudlipls ogmhgs

o Qarding Ha Comailbhn
slilsmarasamsr ghuGiSsin

C) wydla sypmay wEhg) EsmarEi
D) CGumsmm. aodTgis e

. 534Gy Aelwsn. seTpIe)  sTaota Y

A) gy g LT il 530 s
STENLGOIL SITTIESLD

B) mm oo Wil il d uplis
53l L FiT STEmL ML SHITREHLD

C) 53% Guneores HGlnem. o gmamgy

D) Gumsesor. s

100, maun mrdmenm. HO sram  aysmiodsmos)

OH srer sysmiplivig) eretr?

A} mymedlnmise Sl ey
AT

B) mantrmmse GDmp Sy
s STEN |

C} Gufsetor. @irssm(bio

D) CGupsem. [rsmiin e

96.

a7,

a8,

a9,

Al

B)

C)
D)

100.

Why Storms gre Named?

i. To altract Peaople

ii. Ta obey the Rules and Regulalions
afl UNG

iii. To understand the Weather alert
for Metecrologists, Sea sailors and
Civilians.

iv. To identify the diraction of the
storm, when the two Storms are
simultaneously formed at same
seqside

A) T&IB) il & iv

C) | only D) None of the above

65. Boiling temperature of amine
isin  which order?

A) Saecondary amine > Primary amine
> Triple bone amen

B) Secandary amine = Primary amine
< Tertiary amine

C) Secondary amine < Primary aming
> Tertiary amine

D) Primary amine > Secondary
amine = Terliary amine

Why do doctors prescribe some drugs
lo be taken only after food'?

&) They medicine will loose it

power

B) In the empty stomach these drugs
may create some unwanted side
effecls

C) More dosage requlred

D) Mone of the above

What do you mean by 53 grade
cement?

If the holding capacity is of 53 Newton/
meter area then the cement is called
53 grade

If tha holding capacity is of 53 Newlon/
sg.mm area then the cement Is called
a3 grada

Contains more than 53% of cement
All these three

Why Hydroxide Is known as OH
instead of HOY

A) Oxygen has double bond
B) Hydrogen has single bond
C) Both A and B

D) None of the Above



